Differentiation 1 Homework - Marking Scheme

Question | Main points of expected responses
1 (a) any 2 correct,  another 2 012 4x3 —6x*+8x+1
1(b) Expand bracket differentiation | ¢34 17x2 + 4x — 12 2x+ 4
56 x5 —5x76
. —
1(c) 2 correct, another 2 3 3
2 (a) Format o 4xs
_5
Correct Differentiation 2 8 op B3
3
33/x5 3
3 —> _ 9.3
¢ —Sxit+6xt OR-———+°
Correct Differentiation 2 2/x7  xt
Format 5 _14—2 %
2 (©) [ X 2 X
3 4
o ——— OR-—=-xz+2x7s
Any one Correct 2/x3 2
All Correct 7 2 2
. +5x 5 OR +5VF
3 Format ol —3x72
Correct Differentiation o2 6x-3 OR =
3
Substitution and Answer o’ 3 7 3
4 Differentiation ol f'(x)=3x*+2
Gradient 2 m=3>5
Coordinate 3 (—1,-2)

Equation
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.4

y+2=5(x+1)

5 el  [nitial Substitution ol  f(cosx)
2  Answer 2 2cosx
o3 Initial Substitution o3 g(2x)
et Answer ot cos2x

6 el  Rearrange ol tan(2x) = \/i
o2 Two solutions for 2x 23 2= T 7m° 13m 1om
o3 All solutions for 2x T 6’6 6 ' 6

4 71T 13w 1971

et  Answer ° X= 171 ETIETY

Total 28 marks



